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Unit Test Review

GSE Honors Geometry
Unit 4 — Similarity

Name a postulate or theorem that can be used to prove that the two triangles are similar. Then, write a
similarity statement.
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Are the triangles similar? If so, state the similarity and the postulate or theorem that justifies your answer.
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Name a postulate or theorem that can be used to prove that the triangles are similar. 2 5{/ o , 65
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5. The side lengths of AABC are 3, 4, and 6, and the side lengths of AXYZ are 6, 8, and 12 ] Iy =V v
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6. In AABC, m£A=15° and m£B=80° mLC = 25 7. In AABC, mZB=60°, AB=6 and BC=12
In AXYZ, m£X =80° and m£Z=85% LY = |5° In AXYZ, m£Y =60°, XY =3 and YZ=6
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Tell whether each proportion is correct
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Determine whether the given information implies BC/ /E

>
AD = AE
7 AL AD :: A€ v’ T EC
28. A AL o ) 403A37“5/q
3 =3 —
E * 5
\5=15 v
(ves |
31. To determine the height of a very tall pine tree, you place a mirror on the
ground and stand where you can see the top of the tree, as shown.
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b. Your little sister wants to see the top of the tree also. However, 2ft 24 f+

she is only 4 feet tall. Leaving the mirror 2 feet from her feet,
how far from the base of the tree should the mirror be placed?
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32. The bisector of an angle of a triangle divides the opposite side of the triangle into segments that are 18 in.
and 6 in. long. Another side of the triangle is 12 in. long. What are two possible lengths for the 3" side?
oo -

1§

- e Sall K - &
*
6 i :

el | %= 4 ) \;\” i i D bt



Identify each type of dilation and find the scale factor
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